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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E
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P6AE_E, Day=33 (2025-05-08)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

VI, VB8RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 2000
1525
100 + - 1500
980
57 - 1000
50 - 78892
. e - 500
N 4 Warning: lcol [FVI',| "FVO’'] missing 704
( o vi
300 [V |
200 A
100 +
10 | | | | | 32
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
2808 3 A
TargetEC=2600. 0,  TargetSetEC=2360. 0 —>—  ECB*10%
Y [ J ECC
2400 - .’ e ® ® n
2200
6.5 @ @ !
TargetPH=6.5, TargetSetPH=5.5 i i PS —>—  PHB*10%
o PHC
6.0
R ittt ¢ = = ¢ (e
5.0
1 11500
300 4By lnit -@D35 (}3:11: ET=849 Fg=840.0 Ro=96.0
1
| —&—&—&—9 L1000
200 - ! & o o o
100 i - 500
p— & —& O &—O6—
0 o PN Al P N e |
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 -?500
3001 FH | FR | BB |Z=| BB | BH | B§ | Bg | B | H& 5 5 | BH | BH | BH | BH | BH | FR | FBE | BB [ BB | M | O | ®
1
ByEt @D33 19:05: ET=749 Fg=700.0 Ro=nan 1 L 1000
200 - ¢4—o —o—o——=
q & 1= =] ©
100 : - 500
p— S @ © L4 —&— :
0 PN PN PN P N —ﬂr———1f//// 1
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 -?500
5301 | A | | ZE|ZE|ZE|ZE|ZE (2B (2525 B g |Z=|%=| FH | FA [/f| BB | BB | BB | BH | BH | BH
c [
% ByWoFv @D35 03:11: ET=692 |Fg=700.0 Ro=57.0 L 1000
< 200 - : —o—o—o—o—=o
< ! e & o o e e e o o
100 - : - L 500
Gy e oo o —o—o \
1.0 o P al PN I — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
R AR AN RE T E A E R E T E A EFIE TS ERIN g |Z=|%=| FH | FA [/f| BB | BB | BB | BH | BH | BH
0.6 -
0.4 1
0.2 A
N —
o | _obs
1000 + —@— PPFD_obs
RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



40 -

38

36

34

M_E

500

T
600

760 860
m=780,n FV0=0

37 A

36

35 A

34 -

——

M_E

T
780

T
785 790

m=525, FV0=0

40 -

39 A

38 -

37 A

36

——

M_E

T
525

550 555
m=865,n FV0=0

37 A

36

35 A

34 A

——

M_E

T
865

T
870 875

m=620, FV0=0
—— ME
39.0 -
38.5 -
38.0 -
37.5 -
T T T
620 625 630

m=700, FV0=0
- ME
38 -
37 -
36 -
35 -
700 705 710




hour

100

9:00
10:00 80
11:00
- 60
12:00
-40
13:00
19:00 -
1 1 1 1 1 1 1 1 1 _0
B b & B B R % RS
é§¥ 5 ﬁﬁ& & Qﬁ“ @5* Q} %gr




P6AE

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS ERE

09:00 326 160.0 |Z=| 1BRi%@09:00 Bzh (KHEERESE)
10:00 326 160.0 El BRi%010:00 Bz (GGRAERE)
11:00 326 160.0 =l RRiB@11:00 Bz (RFEAEREE)
12:00 326 160.0 Sl {Rige12:00 B3 (KRAERSE)
13:00 326 160.0 E| {Rig@13:00 B3h (RE{ERSE)
14:10 326 160.0 E BRige14:10 Bz CGRAERESE)
Bt 1956.0 (6%) 960.0 3ZHKEC: 2360.0, PH: 5.5

HATHERA (0.96) , S
FERBALER R STMERG (3110 -

BRIASERRGERE121. 0 ml.

LRGEBPH (6.4) 5REE (5.5 MERK, HERE.
EREBPH (6.4) SR (5.5 WERK, HHRE.

121.0), AJEEKRTEERE
EOREBIRTC R IRAE R 2 (326 vs 432.0))




P6AE_E, Day=32 (2025-05-07)

150 1y, v&*4Rv, ET = VI, VO, FVI, FVO, FRV, adjFRV, ET
1866 L 2000
100 4
1300
053 1052
50 - "% e t 1000
o5 Warning: lcol [FVI',| "FVO’'] missing A
-0
—— ME #48
T maxM
£ - 46
©
= (NN
° - 44 2
\E/ ——————————————————————————
_ L 42
(o'
[
ASIAAA ey wwa- 40
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
2808 3 —
TargetEC=2600. 0,  TargetSetEC=2360. 0 > ECB*10%
' o ECC
o
2400 - ° ®
---------------------------- - - X 3¢ X R i a et ittt
2200
® o h
6.5 - TargetPH=6.5, TargetSetPH=5.5 >—  PHB*10%
' o ([ o o o PHC
6.0
- e ¢ > > > N
5.0 A
1
~ Bylnit @35 03:11: ET=857 Fg=980.0 Ro=104.0 1500
£ 300 ,
= 1
o -
£ 200 : - g—e—9—o 100
< 1
= 1
£
= 1 -
— 100 : 500
Ll
- [ I
0 ’f '.l ’f 0
0 1 2 3 4 5 6 7 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 1500
D 200 B | i | g |G | Rg | G| B | BB 5 | B i 5 5 5 i 5 5 5 i 5 | FA BH | PBH e
c 1
% ByEt @D32 19:05: ET=889 Fg=840.0 Ro=nan | —& —© @ ® 1000
e |
£ 2007 ¢—e—o—o—o
~N
E l
= 1004 | L 500
—
Ll 1
1
0 2 2 ) a— i 0
0 1 2 3 4 5 6 7 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 1500
D 200 B | B | B | B | B|B|ZX| = 5 | =] B 5 5 5 i 5 5 REREXFAN BH | PBH [H
c [
% ByWoFv @D35 03:11: ET=1052 Fg=960. 0 Ro=86.0 e e & 5}
~ ! & PN & e - 1000
= 200 4 I
< 1
= 1
£
= 1 -
100 . 500
Ll 1
1
1.0 2 i 22— S — 0
) 0 1 2 3 4 5 6 7 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
osl M5 | B [ B | #FE | B [ | ¥ | F 5 | =] B 5 5 5 i 5 5 REREXFAN BH | PBH [H
0.6 -
0.4 1
0.2 A
0.0
—_— 4
1500 +
[ ] | _obs
1000 - —@— PPFD obs
500 -
RH
[ ] RH_obs
404 @ RHo_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



48 -

46 -

44 -

42 ~

40 -

M_E

T
500

T T T
600 700 800

m=705,m FV0=0

T
900

47 -

46 -

45 -

44 -

43 -

——

M_E

T
705

T
710 715

m=490, FV0=0

46 -

45

44 -

43

42 -

41

——

M E

T
490

495 500
m=790,n FV0=0

46

45 ~

44 -

43 A

42

41 -

——

M_E

T
790

T
795 800

m=590, FV0=0

48 -

47 A

46

45 -

——

M_E

T
550

5%5 560
m=885,n FV0=0

46 -

45 -

44 -

43 -

42 4

41 A

——

M_E

T
885

T
890 895

m=630, FV0=0
- ME
47 -
46 -
45 -
44 -
630 635 640




hour

0:15 -

8:05

9:05

10:05

11:20

12:35

13:45

100

80

- 60

- 40

20



P6AE

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS R

08:05 432 140.0 | 1Ri&e08:05 Bz (KAL)
09:05 432 140.0 5| {Ri1&e09:05 BHzh (RAERHSE)
10:05 432 140.0 FA| 1Bi&@10:05 B3 (KRAFEREE)
11:20 432 140.0 =l RiB011:20 Bz (REAKEE)
12:35 432 140.0 E| {Rige12:35 Bzh (RE{ERSE)
13:45 432 140.0 5| 1RiR@13:45 B3 (REAEES)
Bit]2592.0 (6%) 840.0 3ZHKEC: 2360.0, PH: 5.5

HATHFERA (0.96) , RS
FERBALEN R S TMERR (413.0

BRIASERRIERE160. 0 ml.

LRGEBPH (6.5 SREE (5.5 MERK, HEE.
EXREBPH (6.5) SHEREI (5.5 WERK, HHRE.

160.0), AJEEKTEERE
EOREBIRTC R IRAE R IE Y (432 vs 378.0))




P6AE_E, Day=31 (2025-05-06)

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2483
100 L 2000
1300
50 - 60901 1000
230 418 Warni I FVI',|"FVO’'] missi
142 arning: co , missing
25
0 2 I—. -0
A ——T f 48
T 400 - FRV
g - 46
= e =
— L 44 =
E 200 -
I R e e - 42
[
1.0 40
U
0.8
0.6
0.4
0.2 - , -
Warning: lcol ["WC1',  "WC2'] missing
2808 3 —
TargetEC=2600. 0,  TargetSetEC=2360. 0 > ECB*10%
e o ® ECC
2400 - PY °
------------------------------- X == X a...9 SN gy
2200 -
6.5 ° M) °
TargetPH=6.5, TargetSetPH=5.5 ® o g —%—  PHBx10% f
® PHC
6.0
T T e r ¢ > ¢ ¢ N . b
5.0
. ! 2000
S 300 - Bylnit @D35 93:11: ET=1201 Fg=1120.0 Ro=40.0
= 1
< L 1500
Ezoo ! e —o—o
o 1 1
< 1 o L 1000
E l
Ll
b o —e e e
0 PN PN al PN 0
0 1 2 3 4 5 6 7 8 9 [ 10 | 11 [ 12 13 ] 14 [ 15 | 16 | 17 ] 18 | 19 | 20 | 21 | 22 | 23 [ 5000
~30lZ2= (2= A [P [ B [ [ [ | B [ | B [ | [ | [ | K [ |K[KB |K[KB|B[HKB
c 1
2 ByEt @D31 19:04: ET=1065 Fg=960.0 Ro=nan ] 1500
X 200 A
£ +—8—6—8—8—8—8 00
£
= N | 1
Ll
p o - e e e e B I
0 P PN P PN P o 1 0
0 1 2 3 ] 5 6 7 8 9 ] 10 | 11 [ 12 13 ] 14 [ 15 | 16 | 17 ] 18 | 19 | 20 | 21 | 22 | 23 [ 5000
S30l2Z B2 M | | W 22| & | % | B | B | W | % | % | % | Bal22 52122102 1282122152] % | &
= 1
2 ByWoFy @035 03:11: ET=790 Fg=840.0 Ro=62.0 1500
X 200 A
£ : —o—o—o—o—0 |1000
= 1 e & e e e e o
= 1 i
E100— : \ [ 500
p o - e e e e |
1.0 P PN al N P 0
0 | 1 2 | 3] 4| 5] 6] 71 81 9 |10 11121314 ] 15 16 | 17 [ 18 ] 19 ] 20 21 [ 22 | 23
0 lBE|BZ | W | W | |Bo| m | M | M [ ||| & | 8B 55215252 2222122152] 1% | &
0.6
0.4
0.2 -
0.0
—_— 4
1500 ® | obs
—@— PPFD obs
1000
500
0
30 -
20 -
10
100
80
60 -
RH
404 @ RH_obs
(] RHo_obs
20 4 e v H

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



48 4

46

44 -

42 ~

——

M_E

T
600

760 860
m=760,n FV0=0

T
900

48 -

47 -

46 -

45 -

44

43 -

——

M_E

T
760

T
765 770

m=545, FV0=0

48 ~

46 -

44

42 -

——

M_E

T
545

5%0 5%5
m=830,n FV0=0

48 -

47 -

46

45 ~

44

——

M_E

T
830

T
835 840

m=605, FV0=0

48 -

47 -

46 -

45 -

——

M_E

T
605

6i0 6%5
m=920,n FV0=0

48 -

47 -

46 -

45 ~

44 -

——

M_E

T
920

T
925 930

m=685, FV0=0

48

47 -

46 -

45

44

43 A

——

M_E

685

T
690

T
695




